X2 EEE[LAIFHXIAH

AlAHE

Al
=

olo

LH

°f Higt KHA QNN

0]

M=

2 2= 5y BN

OH

B

Axg

o)L} A

=
[e)

0

T
R

H2ke) 7]

<

Gl

H

—

[e]

B

P A AT A4S XAt 95}

—_—

w7

v} o

AR A} 7]

g ¥

—

49.2% 2 A AL wv J}7lo)l &

A==

10.6%= AEE ®H 20t F44(24.4%)°] A

AT 7+

ol
5

- VA 5 9

7F A9 7 571.7T% =

oj x| ¥t HA HFH

hy2

3

- O, FAGA0 YoM E A EE T0%E Bl F w2

TR
et

K
ol

=~
0

‘GYrirt = g} 65.7%% AY =L

ShAM =

of o

3

Ea=itdic

of 7|tj
oJoj A ‘Aol dfrF BTk (37.0%),

R

el

=0

H

o (27.9%), “A

|

o

o ==
=22 =

‘=Y 2H

otk (26.9%), ‘ZEE7} Yrd’ (23.4%), ‘FFH <

of thsf




o QoA &F T

3

a2

3

£ =olaL Al Fuj= ofojx]7]

i

l

35

to] 7)solu A7t AvlAteA FE

of
Hp

NAE

2]
2)
2

A o] g, EF of

O=

UA o

etk

il

%

b] ofel¢m, E=o upe}

g 743

o

_g]

1

X
g

Ho

O A

%

%

il

g Qo

7}

AAHow F

Qo &

o A o
ERCE—

q sugel 3

=
o

o A A 7]

Far lew, o uhe}

AR 5
g 3}

R
=

Ho

il

jan
N
i

R

PN
T

HAl A A

J




